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2. Whatdoes flie digit 7 in 6.871 stand for?

{1} 7ones

(2) 7tenths

{3) 7 hundredths
{4y 7 thousandths

3. Which of the following is the same as 20 kg 85 g7
(1) 2095¢
(2y 29580g¢g
(3) 200959

(4) 20950¢g

4, Express 0.5 as a percentage.
(1) 5%
(2 S0%
{3) 05%
4) 0.05%

2 {Go on to the next page)
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Sammy and Liting have 240 beads. Sammy has 60 beads. What is the ratio
of Liting’s beads to the total number of beads that Sammy and Liting have?

M
(2)
(3)
)

1:3
1:4
1
14

3

Line AOB and line COD are straight lines. LAOE = 14° and £BOD = 30°.

Find Zx.
D
/
e} 30°
A 7y | B
X
E
{H 14
{2y 15°
3 16°
4 30
Find the value of 10 + 2000.
h 20
2) 200
(3) 0.05
4) 0005
3 {Go on to the next page)
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| VWhatis the average marks of the 3 gils?

RROR
@
®)

(4)

_j::61':”- o
70
105

210

Arrange the following volume in increasing order.

(1)
2
3
4

1284mt 12-1%: , 1240 mt

1240 m¢ ., 1214mt 12%:

12%{ , 1214me , 1240 me
1240 m{ | 12{-‘5( . 12t4mt

1284mt , 1240 mt 12%:

4 {Go on to the next page)
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10. In the figure below, FH is the base of triangle FGH. Which is the height of
" triangle FGH?
F. G
(1} FG
{2) HG
3} KG
4) HK
i1, Ala cafe, the ratio of the number of tables to the number of chairsis 3: 5.
There is a total of 120 tables and chairs. How many more chairs than tables
are there at the cafe?
{1y 30
() 45
3 75
(4) 80
12.

Huishan had $4C00 in her bank account. The bank paid 2% interest al the
end of each year. She did not withdraw her savings for 1 year. How much
did she have in the_b.ank atthe end of 1 year?

(1) $80
2) ~ 3800
(3) 4080
() $4200

5 {Go on to the next page)
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14.

Grandma had'g* kg of sugar. She used. %of it to make desserts. Hbj\n_) much

stigar did she have left?
() 3k

@ Sk

&) 3% kg

11

(4) kg

&l

- 15,

The ratio of the perimeter of a square to the perimeter of a rectangle was
3 : 4. The perimeter of the rectangle was 48 cm, Find the length of one side
of the square.

(1} 6cm

(2) %Qcm

3} 12cm

(4) 36cm

END OF BOOKLET A
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Quesbons 18 to 20 camy 1 mark each Wnte your answers in the spaces o
. previded. For questions which require inits, give, your answers in the units | Donotwrite
S0 _stated Alt dtagrams aenotdmwnioscale. (5 marks) In this space

o . 1 The so!;d shown below is formed usmg unit cubes.
How many unit cubes are used. to form the sof d?

}

17. Find the value of 49~ 10+ 7 X5,

Ans:

48. % kg of butter is needed to bake a cake. How many kilograms of butter

is needed to bake 9 such cakes? Leave your answer as a mixed
number.

Ans: kg

2 {Go on'to the next page)
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Do not write

19. Express 5 575 as a decimal. in this space

Ans:

20. Find the volume of a cube of edge 3 cm.

Ans: cm?

Total marks for questions 16 to 20

3 {Go on to the next page
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'_i,-_’Questions 21 10 30 cany 2 marks each Shon your wokag c!eaﬂy and write ‘
-+~ your answers in the spaces prowded For quesuons which require umts give
SR your answers m the umts stated All d" agmms are not drawn to scate '

R 2 Fmd the value of 24 < 7. Give your answer to 2 decimal places'; N

{20 marks)

22. What is the missing number in the blank?

2:6= 135

P e

Ans:

23. in the figure below, all the lines meet at Point O. ZLOP = 215",
Find ZMOP,

M P

215°

Ans:

Do not v}me
in this space

Ty

4 {Go on to the next page)
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24.  The following figure is made up of identical squares and Iriangles. Da not write
. . . in this spaca

What percentage of the figure is shaded?

Ans: %

25. PQR is a triangle. #PQS = 36°, ZSPQ = 76°and #SRP = 39°.
Find 2y.

Ans; k

& {Go on to the next page)
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l}é.mt write
In this space
Ans: cm?
27. The rental rates for a bicycle at a shop are as shiown belew.
First2howrs $20.00
Every ad:ﬁtionai% hour or less $4.50
Dennis rented a bicycle at 8.15 a.m. and retumed it at 12.00 noon on the
same day. How much would he need to pay for the bicycle rentai?
]
]
Ans: $ i
6 {Go on tc the next page)
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28 ABCDIs a square and DEC is an equilateral triangle. Find £CFB, Do not write
» in this space
A F B
E
D c

Ans: ”‘ WJ

29, The total length of 3 ribbons is 108 cm. The length of tibbon A is.

26 cm. Ribbon C is twice the tota} length of ribbon A and ribbon B. What
is the length of ribbon B?

Ans:

cm

7 (Go on 1o the next page)
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Each statement below js either trus, false or not possible to tell from the
information given. For each statement, put a fick () in the comect
column, ' : ' '

. Not
Statement True False |possibie
to tell

The ratio of the area of triangle LQP
to the area of triangle QMNis 1:; 2,

Triangle PQN is an ebtuse-angled
triangle.

- | Donotwite .
- Jinthisspace - .- -

Total marks for questions 21 to 30

END OF BOOKLET B
END OF PAPER 1
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- SCHOOL - : CATHOLIC HSGH swom (Primary)
sul sjscr : MATHEMATICS o
IERM : End of Year Paper 1

Booklet A
Q1 1 Q2 3 Q3 3 Q4 2 Qs 4
Qe 3 Q7 |4 g8 ] 2 Qo 1 Q10 |3
Qil (1 Q12 |3 Qi3 |3 Q14 z {ais |2
Booklet B
Q15 Q17 |49-10435=74
Ans: 10 Ang:74
Qe (1, 9 .2 Q19 | 7x4=28 |
= X9= 5= 1 3 .
Ans: 1z Ans:5.28
Q20 | 3x3x3=27 Q21
. _ Ans:27 Ans :3.43
Q22 | 2x7=14 023 | 360-215-50=55
Ans: 14 Ans: 55
Q28 4 00% = 250% Q25 | 180-76-36=68
16 180-68=112
180-112-39=29
Ans:25 Ans : 29
Q26 %x 6x8=24 Q27 | 20+9+9=38
Ans:24 Ansj: 38
Q28 | 180-30-90=60 Q29 | 26426426=78
108-78=30
30+3=10
_ Ans :60 Ans: 10
Q30 | Not possibie to tell
False
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Queshons 110 5carry 2 marks each Show your workmg cleaﬂy in the space | Do not write

. below. each question and write your answers in the spaces provided. For | in this space
* - questions which require units, give your. answers in the umts stated

o All diagrams are not drawntoscale AR . (10 marks)

1 | A speaker cost $98 before GST There was a?% GST on the speaker.
- '_ What was the cost of the speaker w:th GST’7

Ans: $

2. Tim had 1§ m of rope. He had 12 m less rope than Jane. What was the
length of rope that Jane had? Leave your answer as a mixed number.

ANS: m

2 (Go on to the next page)
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Amy had $560 less than Harry. After Harry gave Amy some money, Do not write
:my?had $780 more than Harry. How much maney did Harry give inthis space
my’

Ans:$

The figure below shows 8 identical rectangles arranged differently i
€ ty in2
stacks. Find the length of a rectangle. ] ’

18 ¢m

Ans:

—— L CTUE

3 (Go on to the next page}
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5] Thi following sofid is made up'of 8 cubes. Draw the top view and the | Do not write
. sideviewofthesolid. . .o in this space

~ TopView

l R

ZSREREN

Front View Side View

Top View Side View

4 {Ge on {o the next page)

More papers available at www.testpapersfree.com



For questions 6 to 17, show your working clearly in the space provided for each
question and write your answers in the spaces provided. The number of marks
available is shown in brackets | J at the end of each question or part-question.

(45 marks)

6.

Bakery A and Bakery B baked the same number of buns at first. Bakery
A sold 173 buns and Bakery B sold 353 buns. The number of buns left
in Bakery A was 5 times that of the numbeér of buns left in Bakery B.
How many buns did each bakery bake at first?

Ans: {3}

4

5 {Go on to the next page)
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' DA readmg survey was conduc ed Wi

S ‘.d:d each bcy read?

h 'a c!ass of 19 boys and 20 girls.
Each boy read the same number of books. Each girl read 4 more books

" than each boy. The class read a totaf o 275 books. How many books

Ans: {3}

6 {Go on to the next page)
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The usual pn‘ge of an oven was $170 and the usual price of a toaster Do not write
was $50. During a sale, all items were sold at 30% discount. in this space

(@) Mrs Lim bought an oven at the sale. How much was the discount?

{b) Mr Ravi bought a toaster during the sale. How much did he pay for
the toaster?

Ans: (a) —_— M

(b)

7 (Go on to the next page)
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Adnan and Bert had a tota! of $4563.' Aﬂer Adnan spent 2 of h;s money

S and Bert spentg' of hss money,

:ey‘h d an equa! amount of money left 4

How much money was Bert teft _w""h?

Ans: [3]

~BP-396

t)‘o not write
in this space

8 {Go on to the next page)
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10.

in the square grid below, EF is one side of trapezium EFGH.

{a) Measure and write down the size of » HEF.

(6) Complete the drawing of trapezium EFGH, where FG is thrice that

of EH and FG is parallel to EH.

More papers available at www.testpapersfree.com

E F
1
- H IN
N
NN
N u
\ |
\\V \'\\ F’:
4
(2]
|
|
|
!
Ans: (a) [1]
9 : {Go on 10 the next page)
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M

. 'contamer A is. !nen p’oured into. .contai e'r B wdhout spslhng After A
' . -_'contamerBss ﬁﬂed to‘the'bnm there 1s stsn somewat3r Ieft n-

" -oq'néxjwﬁ:e{, :
i m this space - ‘

“1400m -

¥
L
%

;..‘....---—-.‘.

s0em I :' - ‘.2'2 cm
ContainerA - Container B

{(a) What s the capacity of container B? Leave your answer in em®,

(b) How much water is left in container A after container B is filled to
the brim? Leave your answer in litres.

Ans:(@) 11}
oy 13

10 {Go on Yo the next page)
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BP~399

Roy bought garlic bread, mashed potatoes and pizzas for a party. The | Do not write

ratio of the number of garlic bread to the number of mashed potatpes

the number of pizzas boughtwas 2:7: 3, The cost of each garlic bread,
mashed potato and pizza was $2.50, $3 and $10.50 respectively. He

paid $690 for all the food items.
{8} What fraction of the food bought was mashed potatoes?

{b) How many pizzas did Roy buy?

Ans: (a)

to { inthis space

— ( ]
ORI |

11 (Go on to the next p
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13. The line graph shows the amount of water thal teaked from a tank i

10 minutes from 8.00 a. m. to 8. 10 a m.
60 :

50 -

Volume of . NSRS MO
water - — e —
(litres) :

10

0
8.00 8.02 8.04 8.06 8.08 8.10

Time (a.m.}

(a) How much water leaked in 1 min?

(b) At the rate shown in the graph, how many minutes would it take
for the tank to be completely empty after 8.10a.m.?

Ans: (a) 2]
(b) 2]
12 {Go on o the next page)
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14, In the figure below, BCDE is a rhombus and ABE is a triangle. ABC is a
straight line. <EAB = 95°, /BDE = 65°.

A B c
95°

65°

(a) Find £BCD.

(b) Find ZAEB.

Do not write
in this space

13 {Go on to the next pf)age)
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Mrs. Lee baked some’ ples She gave ! 20 of them to her neaghbours and P(; :iéi'w?if;‘i'- e
in this space
‘ gof the Temaining pres to her fnends She was left wrth of the total PRI

_fnumber of mes How many ptes drd Mrs Lee bake?

Ans: {5
14 {Go on to the next page)
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6. Ahmad had 480 marbles. After giving his friend 25% of his marbles, he | De not write
packed all the remaining marbles into bags. Each bag contained either | Inthis space
6 or 8 marbles. He packed 50 bags in total.

(a) How many marbles were packed into bags?

(b) How many bags were packed with 8 marbles each?

..

15 (Go on to the next page)
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‘Figure 1 Figwe2 . Figure 3

Figure 4

The table below shows the hufnber of shaded triangles and unshaded

triangles used for each figure.

1 1 | o 1
2 3 1

3 6 3 9
4 10 6 16
5 25

(a) Complete the table for Figure 5.

(b) Which figure number has a total number of 81 shaded and

unshaded triangies?

Ans: (b)

{2

END OF PAPER 2

16
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- _:_:SUBJECT, _
S fPaperZ . Lo
al %g—;-x%} 1a4 86 QZ 1:2“5‘”23';‘
' » Ans 104 86 _ ’ Ans : 3;;’:
Qs 780 560'-220 Q4 |19-3=16
220+2=110 ' 16:4=4
560+110=670 19-4-4=11 |
Ans : 670} Ans: 11
Q5 T Q6 |353-173=180
B:, &‘b | 180:4=45
- | ) .- 45+353=398
. o Ans : 398
Q7 | 4x20=80 Q8 (a)-—><170 51
275-80=195 100
195+39=5 (b) mxw =15
50-15=35
Ans : (a) $51
Ans:5 (b} $35
Q9 | 4563+13=351 Q10 | (a) 64° |
351x3=1053 % ¥
Ans : $1053 R
(b) s
Q11 | (a) 22x22x40=19360 Q12 | (a) 2+7+3=12 |
{b) 60x15%40=36000 {b) (2x2.5)+(7x3)+(3x10. $0)
36000-19360=16640 =5+21+31.5
16640mi=16.64L =57.5
690+57.5=12
12x3=36 |
Ans: (a)19360m! Ans : (a){—z—
(b) 16.64L (b) 36
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Q13 | (a) 48-18=30 Q14 | (a) 180-65-65=50
30+10=3 {b) 180-95-50=35
{(b) 18+3=6
Ans :(a) 3L Ans : {a) 50°
{b) 6min {b) 35°
Q15 | 20+4=5 Q16 (a) 75 X 480=360
3+9=12 100
N i (b) Assume all are bags of 6,
12x5=60 360+6=60
60-50=10
10x6=60
8-6=2
60:2=30
Ans: {a) 360
Ans : 60 (b) 30
Q17 : {a)
| |15 |10
{b} 9x9=81
- Ans : (b) 81
Ent>

More papers available at www.testpapersfree.com

BP-406





